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Question: 1 
   
What are the two composite generalized data types? 
Response: 
 
A. Records and BFILE 
B. TIMESTAMP and CLOB 
C. Records and collections 
D. BLOB and CLOB 
 

Answer: C     
 

Question: 2 
   
Which two statements are correct about PL/SQL package components? 
(Choose two) 
Response: 
 
A. A package must have both specification and body. 
B. A package body can exist without the package specification. 
C. A package specification can exist without the package body. 
D. When a packaged public variable is called for the first time in a session, the entire package is loaded 
into memory. 
 

Answer: C,D     
 

Question: 3 
   
Which of the following is used to map an exception to an error code? 
Response: 
 
A. SQLCODE 
B. EXCEPTION_INIT 
C. RAISE_APPLICATION_ERROR function 
D. PRAGMA 
 

Answer: B     
 



Question: 4 
   
Examine the following block of code: 

 
Which two statements are correct about the code above? 
(Choose two.) 
Response: 
 
A. The function goes through only the parse and executes phases. 
B. The function goes through the parse, bind, and execute phases. 
C. The function goes through the parse, bind, execute, and fetch phases. 
D. All the processing phases for the function are performed only at run time. 
E. Only the EXECUTE IMMEDIATE statement inside the function is parsed at run time. 
 

Answer: A,E     
 

Question: 5 
   
Which of the following events CANNOT cause a trigger to fire? 
Response: 
 
A. DROP 
B. DELETE 
C. INSERT 
D. UPDATE 
E. SELECT 
F. CREAT 
 

Answer: E     
 

Question: 6 
   
SET ROLE is an example of which of the following SQL statements? 



Response: 
 
A. System control statement 
B. Transaction control statement 
C. Embedded SQL statement 
D. Session control statement 
 

Answer: D     
 

Question: 7 
   
In which of the following can a subprogram NOT be created? 
Response: 
 
A. Inside a PL/SQL block 
B. Inside a trigger 
C. Inside a package 
D. At the schema level 
 

Answer: B     
 

Question: 8 
   
What is the maximum size of a trigger? 
Response: 
 
A. 64KB 
B. 32KB 
C. 16B 
D. 8KB 
 

Answer: B     
 

Question: 9 
   
In which of the following places is the record variable NOT allowed? 
Response: 
 
A. In the VALUES clause of an INSERT statement. 
B. In the INTO subclause of a RETURNING clause. 
C. On the right side of the SET clause in an UPDATE statement. 
D. In a SELECT list. 



 

Answer: D     
 

Question: 10 
   
Which of the following statements is NOT true about the BULK COLLECT clause? 
Response: 
 
A. B. The BULK COLLECT clause can be used both in server-side and client-side programs. 
B. It is not possible to bulk collect into an associative array that has a string type for the key. 
C. A user can combine the BULK COLLECT clause with a FORALL statement. 
D. When implicit datatype conversions are needed, multiple composite targets cannot be used in the 
BULK COLLECT INTO clause. 
 

Answer: A     
 


